
INSTALLATION INSTRUCTIONS 

Installation instructions for Toyota Tacoma TC-6124 Mounting kit for sport rack system and 5129 cab 

basket  

Fits 2005-2011 Toyota Tacoma 

** Inspect all parts prior to installation. 

Hardware list: 

QTY 8 M10X1.5X60mm 

QTY 6 M10X1.5 nut 

QTY 4 M10X1.5X25mm 

QTY 16 M10 washer 

Installing Sport Rack: 

We recommend you have help with lifting of the Sport Rack to avoid injury or damage to Sport Rack 

and vehicle. 

1 Remove two bed bolts closest to front of bed. Retain hard ware for latter use. 

2 Support basket on cab about 3 inches above cab. We recommend caution to protect cab and 

basket from scratching. 

3 Slide nut plates into bed tie down channel, 2 per side channel. 

4 Install front legs into bottom holes on basket. Install factory bed bolts at bottom of legs and 

supplied M10x1.5x60mm hardware. Do not tighten at this time. 

https://www.carid.com/body-armor/


INSTALLATION INSTRUCTIONS 

5 Locate and install middle support legs in top holes of cab basket and at bed side channel 

locations. 

6 Install rear legs and rear cross bar.   

7 Check for alignment to body and tighten all Hardware at this time. 

Note: Recheck all hardware after the first couple hundred miles. It is advised to inspect the Sport Rack 

and hardware periodically. Be sure to secure all loads before traveling. 

** The Sport Rack basket pictured is different than the production model. We added a windscreen 

and placed the light tabs on the bottom bar. This was done to reduce wind noise.  

** You can use our 5125 adapters on the Sport Rack if you would like to add Thule or Yakima rack 

accessories.  

5125 Adapter 

Look through our comprehensive collection of off-road bumpers right away.

https://www.carid.com/off-road-bumpers.html

